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2004 5
(4) 2
hy Yo + hy, 6 = Pss Fy
hy Yo + hy 6 = Pas F4
I-2.1 1 Yo = ( P Pss - B, Pas) Fu/( hy hyy - By hy)
( Y E, > O = (hy P - By Pas) Fi/( hy hy - hy hy)
(AZ}, Z20={000 F} . (s
( 2.,4)
[31]
W (2, =[TL TV Z, = [ QX Z,
: 16 o pra - P
o y T Gz Qi3 Qs Yo = Ny hyy - hs, By Fs
(Zs = [ TE{ B - {02) P g e bes e
{(Zye =[ T Zys =[ TK Tk({ Z}, - { AZ},) T G Gy G .
Q, qa Ja2 qa3 Jaa
...... .
{Zg =[ Tlel Ths - - [ Ts({ 8.4 - {AZ4) (6)
(1) (6) 2
1 4 hay Psa - hs, Paa hy P - s, Pas
= F F
{Z, =TI 2, T gy b by T h g <y by
{ Z}z = [ T]z{ Z}l = [ T]z[ T]l{ Z}o
{Zy; =[Ti{Z, =[ TLEL TLL T1{ Z}, W, = Yo = g M s hy psa - hy pa
’ F, hy hy - By, hy hy hy - hyy hy,
12y =Tl L =[TLTLITLL TY{ Z,
(2)
(2) (1) :11 ]:112 :13 ]:114
{Zho=1[ Thel Ths - { TH([ TL{ TL[ T [H] = [Thl TheoiTh = ° 000"
[TI{Z, - {0Z}y) h31 h3z h;; h34
=[ Tkl Ths - [T TLITL TL T1{ 2, o e T
[ Tlel Zys - - [ T{ AZ}, Pn P2 Pz Pua
=[ H{ Z, - [ P{ArZ, (3) [ P] =[ The[ Tlhs - - [ T) = Pan Pn Ps P
J H] [ Thel Tls - [T TLL TLL Th Pa P Pn P
[ TL L Pl [ Thel Tls - -- [ T]s - Pa Po P Pu
( M=0Q=0,M,= Qs qn Q2 Gis ia
= . P} Jn  Gxn (g
=0 (3 : [ QI =[ TL T} =
Y hy; hy, hsy  hy a1 G2 33 (3
hzl hzz h23 h24 Ja Ja a3 aa
= X
0 By hy  hy o by [TLLTL, - [ The
2].
b Iy he s L2]
1.2.2
Y Pu P2 P35 P 0
0 9
Pa P Pz P (4) ( 0 ( 2
0 Ps P2 Pz Paa 0 ( 14)
0 Pa Pz Puz Pa F,
(3) (4) ( 2
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1 b

n=215 1/ min n =229 1/ min n =245 1/ min 4% 4

z a z a z a

[r] .,
2(3) 0.02 0.04 0.09 0.40 0.10 0.49
14(15) x x 0.08 0.38 0.10 0.47 ’
n ,Z (mm) ,a
s ° V\/2,4 >
(m/s”) ,x
y [ H]{ P]{ Q]
min F(X) = W, = 3 =
’ F4 ) )
ho Pa - N3 Pag hy psa - hy pu ’
LN T N
’ 3
GA735-190
s [17].
1.3 s 5
£=0.0001 , a =0.5,

, ’ X" =[x % % x X% %] =[65100800 500 2x 10
, 2x10°]", : X" =

35 <4 <70,

g(1) = x(1) - 35 20

g(2) = - x(1) +70 20

5>

64 <L, <980

52 <L <980

52 <L <1012
L, + Ly <980 ¢(9)
L, + Ly + Ly <1 882
- x(3) - x(4) 20
2x10° < K, <10x10°

2x10° < K, <10x10°

g(3) = x(2) - 64 20

g(4) = - x(2) +980 20

g(5) = x(3) - 52 20

g(6) = - x(3) +980 20

g(7) = x(4) - 52 20

g(8) = - x(4) +1012 20
=980 - x(2) - x(3) 20
g(10) =1 998 - 105 - x(2)

g(11) = x(5) - 2x10° >0
g(12) =- x(5) +1 x10° 20
g(13) = x(6) - 2x10° >0
g(14) =- x(6) +1 x10° >0

[% % X% X % X ] =[44.3 107 791 487 999999
43251917 . 2.62x10"° mm/N.
d=50 mm,L, =127 mm, L; =
853 mm, L, =907 mm, K, =26.0991 x 10* N mm, K, =
24.6736 x 10 N'mm,
W,y =3.102x10"° mm/N.

b}

,2003(2) :40 ~ 42 .

,2003 :31 ~33.
3 . (I ~1).
266 ~ 290 .
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